CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES BID TABULATION FOR:

TO SERVE TERALYN FOREST DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A

CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

MAY 3, 2024

BID OPENING LOCATION: LJA ENGINEERING, INC. TABULATION BY: A.CAROTHERS TABULATION DATE: MAY 7, 2024 LJA JOB NO. 0474-8014 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID NO. 1 ITEMS	BID INCLUDING ALTERNATE BID ITEMS NO. 2	BID INCLUDING ALTERNITEMS NO.	BID INCLUDING A RNATE BID ITEMS NO. 4	BID INCLUDING ALTERNATE BID ITEMS NO. 5
1) BLAZEY CONSTRUCTION SERVICES LLC	\$669,854.20	\$1,375,508.70	\$984,854.20	, , 574.20	\$717,100.20	\$1,196,203.20
2) LEXTON CONSTRUCTION, LLC	\$675,103.61	\$1,289,676.56	\$885,103.61	\$718,500.01	\$696,603.61	\$1,254,978.61
3) CE BARKER LTD. CALENDAR DAYS 100	\$780,001.92	\$1,360,911.92	\$1.47 72	y382,341.92	\$809,651.92	\$1,314,771.92
				3.7	OF TEXTS OF	

BID OPENING DATE:

I, Micah Kreiekemeier, PE reby c nese but abulations to be true and correct.

MICAH KREIKEMEIER 05/09/2024 CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE TERALYN FOREST DRIVE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.				MONTGOMERY COUNT CITY OF CONROE, MON MAY 3, 2024 LJA ENGINEERING, INC. A.CAROTHERS MAY 7, 2024 0474-8014 (9.2)	Y MUNICIPAL UTILITY D TGOMERY COUNTY, TE				G.
				1) BLAZEY CONSTRUCT	TION SERVICES LLC	2) LEXTON CONS	TRUCTION, LLC	٠, ٠ ١	ER LTD.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	'JNI' 'ST	TOTAL COST
DIVISION I - WATER DISTRIBUTION	N SYSTEM								
	, C-900, DR 18,CLASS 235, INCLUDES ALL DEPTHS, CKFILL, COMPLETE IN PLACE	LF	1491	\$67.00	\$99,897.00	\$64.90	φ96,765.90	\$68.00	\$101,388.00
	C-900, DR 18, CLASS235, INCLUDES ALL DEPTHS, CKFILL, COMPLETE IN PLACE	LF	41	\$35.00	\$1,435.00	50	\$ 5.50	\$39.00	\$1,599.00
	PTHS (INCLUDES) APPROPRIATE TEE, FITTINGS, 6" D LEAD PIPE), COMPLETE IN PLACE	EA	4	\$8,072.00	\$32,288.00	113	\$26,972.00	\$8,400.00	\$33,600.00
4 16" AWWA GATE VALVE & B	OX, COMPLETE IN PLACE	EA	1	\$13,365.00	ر,365.0	109.50	\$12,109.50	\$14,200.00	\$14,200.00
5 12" AWWA GATE VALVE & I	BOX, COMPLETE IN PLACE	EA	5	\$3,655.00	\$.	\$4,106.50	\$20,532.50	\$3,750.00	\$18,750.00
6 8-INCH AWWA GATE VALVE	& BOX, COMPLETE IN PLACE	EA	2	\$2 710.0	\$4,0 00	\$2,383.00	\$4,766.00	\$2,050.00	\$4,100.00
7 TRENCH SAFETY SYSTEM, A COMPLETE IN PLACE	ALL DEPTHS (INCLUDES ALL LATERAL LEADS),	LF	1639	\$0.30	491.70	\$0.01	\$16.39	\$0.01	\$16.39
8 8" PLUG & CLAMP WITH 2" B IN PLACE	BOX ASSEMBLY, COMPLETE	EA	2	\$937,00	\$1,874.00	\$958.20	\$1,916.40	\$1,350.00	\$2,700.00
INCLUDES FITTINGS, ALL AI	POSED 12" WATER LINE TO EXISTING WATER LINE, DAPTERS AND CONNECTORS NECESSARY, AND IG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL CE	EA		\$1,482.00	\$1,482.00	\$943.00	\$943.00	\$1,850.00	\$1,850.00
10 STEEL CASING FOR 8" WATE COMPLETE IN PLACE	ER LINE, INCLUDES SPACERS AND FND SEA	LF	51	\$121.00	\$6,171.00	\$218.00	\$11,118.00	\$175.00	\$8,925.00
11 STEEL CASING FOR 12" WA' COMPLETE IN PLACE	TER LINE, INCLUDES SPRS AND _D Sc	LF	93	\$124.00	\$11,532.00	\$245.50	\$22,831.50	\$190.00	\$17,670.00
12 16" X 12" TAPPING SLEEVE	AND VALVE & BOX CO. , E IN PLACE	EA	1	\$4,269.00	\$4,269.00	\$10,155.00	\$10,155.00	\$9,600.00	\$9,600.00
13 2" AUTOMATIC AIR RELEASE IN PLACE	EV ASSEMBLY FOR " _R LINE, COMPLETE	EA	1	\$5,264.00	\$5,264.00	\$5,125.50	\$5,125.50	\$5,800.00	\$5,800.00
14 12" PVC RESTRAINED 'NT RESTRAINED JOINT FIT G IN PLACE	WA P _, ^00, DR 18, CLASS 235, INCLUDES S, B JING AND BACKFILL, ALL DEPTHS, COMPLETE	LF	93	\$83.00	\$7,719.00	\$74.00	\$6,882.00	\$80.00	\$7,440.00
	ATER LINE, C-900, DR 18, CLASS 235, INCLUDES S, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE	LF	50	\$44.00	\$2,200.00	\$39.50	\$1,975.00	\$52.00	\$2,600.00
DIVISION I - WAT AR DISTRIBUTION	SYSTEM SUBTOTAL:				\$210,282.70		\$223,564.19		\$230,238.39
DIVISION II - SANITARY SEWER CO	OLLECTION SYSTEM								
	METER SANITARY SEWER MANHOLE, (0' – 8' DEPTH), FERIOR COATING AND ADJUSTMENTS, COMPLETE IN	EA	2	\$3,450.00	\$6,900.00	\$3,903.50	\$7,807.00	\$3,600.00	\$7,200.00
	METER SANITARY SEWER MANHOLE, (0' – 10' DEPTH), FERIOR COATING AND ADJUSTMENTS, COMPLETE IN	EA	6	\$5,771.00	\$34,626.00	\$5,475.50	\$32,853.00	\$5,800.00	\$34,800.00
3 EXTRA VERTICAL DEPTH FO 10' DEPTH), COMPLETE IN F	OR 5' DIAMETER SANITARY SEWER MANHOLE (OVER PLACE	VF	29.6	\$482.00	\$14,267.20	\$452.20	\$13,385.12	\$451.00	\$13,349.60
4 EXTRA VERTICAL DEPTH FC 8' DEPTH), COMPLETE IN PL	OR 4' DIAMETER SANITARY SEWER MANHOLE (OVER LACE	VF	3.18	\$230.00	\$731.40	\$283.90	\$902.80	\$400.00	\$1,272.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE TERALYN FOREST DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A

CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

MAY 3, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

MAY 7, 2024 0474-8014 (9.2)

20110021101				011 1 0011 (0.2)					
				1) BLAZEY CONSTRUC	TION SERVICES LLC	2) LEXTON CONS	STRUCTION, LLC	٠, ٠	(ER LTD.
ITEM DE	ESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	'JNI'ı 'ST	TOTAL COST
5 8" PVC SEWER PIPE, ASTM D-3034, STABILIZED BEDDING AND BACKFILL		LF	308	\$49.00	\$15,092.00	\$44.10	\$13,582.80	\$62.00	\$19,096.00
6 8" PVC SEWER PIPE, ASTM D-3034, S STABILIZED BEDDING AND BACKFILI		LF	389	\$57.00	\$22,173.00	\$45.10	543.90	\$64.00	\$24,896.00
7 8" PVC SEWER PIPE, ASTM D-3034, S STABILIZED BEDDING AND BACKFILI		LF	89	\$76.00	\$6,764.00	\$4 7	,245.30	\$70.00	\$6,230.00
8 6" PVC FORCE MAIN, C-900, DR 18, C AND BACKFILL, ALL DEPTHS, COMPI	LASS 235, INCLUDES FITTINGS, BEDDING LETE IN PLACE	LF	2552	\$29.00	\$74,00	\$33.0	\$84,216.00	\$54.00	\$137,808.00
	INITARY FORCE MAIN, (EXCLUDES CASING & INED JOINT PIPE AND BORE PITS, ALL	LF	141	\$106.00	\$ 91	\$74.00	\$10,434.00	\$85.00	\$11,985.00
10 STEEL CASING FOR 6" SANITARY FO SEALS, COMPLETE IN PLACE	PRCE MAIN, INCLUDES SPACERS AND END	LF	141	\$44.00	\$6,2000	\$94.30	\$13,296.30	\$134.00	\$18,894.00
11 8" SANITARY SEWER PLUG, ALL DEP	PTHS, COMPLETE IN PLACE	EA	1	\$120.00	\$120.00	\$273.80	\$273.80	\$160.00	\$160.00
12 2" AUTOMATIC AIR RELEASE VALVE A INCLUDES SERVICES MANHOLE, CO		EA		.00	\$6,438.00	\$5,493.50	\$5,493.50	\$8,500.00	\$8,500.00
13 TRENCH SAFETY SYSTEM, ALL DEP	PTHS, COMPLETE IN PLACE		337չ	\$0.30	\$1,013.70	\$1.00	\$3,379.00	\$0.01	\$33.79
14 VIDEO INSPECTION OF SANITARY SE COMPLETE IN PLACE	EWER, ALL SIZES, INCLUDES DIGITAL, COF	L	70	\$2.40	\$2,400.00	\$0.01	\$10.00	\$1.00	\$1,000.00
15 STANDARD SANITARY SEWER DROP COMPLETE IN PLACE	P STRUCTURE, ALL SIZES FPTH		1	\$776.00	\$776.00	\$958.20	\$958.20	\$1,350.00	\$1,350.00
16 CORE INTO EXISTING SANITARY SEV SANITARY SEWER LINE, ALL DEPTHS		EA	1	\$2,584.00	\$2,584.00	\$1,972.00	\$1,972.00	\$2,450.00	\$2,450.00
17 6" PVC FORCE MAIN, C-900, DP C INCLUDES RESTRAINED JOINT COMPLETE IN PLACE	CLASS 235 REST NEP AT PIPE, TSS, BEDDING AT JKFILL, ALL DEPTHS,	LF	141	\$42.00	\$5,922.00	\$28.40	\$4,004.40	\$45.00	\$6,345.00
DIVISION II - SANITARY SEWE OLLE	N SYS`ı ∈M SUBTOTAL:				\$214,965.30		\$214,357.12		\$295,369.39
DIVISION '' - DRAINAGE FACIL. 'S									
1 REI, 'RCED CONC' TF PE "C" M SMAL R, INCLUDES ADJUSTME	MANHOLE, FOR 42" STORM SEWER AND ENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$3,148.00	\$25,184.00	\$3,655.50	\$29,244.00	\$4,650.00	\$37,200.00
2 24" RCP SEWER, ASTM C-76, BACKFILL LL DEPTHS, COMPLETE	, CLASS III, INCLUDES BEDDING AND IN PLACE	LF	1214	\$84.00	\$101,976.00	\$88.20	\$107,074.80	\$98.00	\$118,972.00
	ONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE CTION BARRIER FOR STAGE I INLET, ALL	EA	6	\$2,489.00	\$14,934.00	\$1,810.00	\$10,860.00	\$2,200.00	\$13,200.00
	CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE CTION BARRIER FOR STAGE I INLET, ALL	EA	6	\$1,834.00	\$11,004.00	\$2,585.50	\$15,513.00	\$1,250.00	\$7,500.00
5 REINFORCED CONCRETE TYPE "C" IN SMALLER WITH "E" INLET TOP, ONE	MANHOLE FOR 42" STORM SEWER AND SIDE OPEN, ALL DEPTHS, COMPLETE IN	EA	2	\$4,683.00	\$9,366.00	\$4,223.00	\$8,446.00	\$4,650.00	\$9,300.00

BID OPENING DATE:

TABULATION DATE:

LJA JOB NO.

BID OPENING LOCATION: TABULATION BY:

ALTERNATE BID NO. 1 ITEMS

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE TERALYN FOREST DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A

CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

MAY 3, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

MAY 7, 2024 0474-8014 (9.2)

204,000 No.) BLAZEY CONSTRUCT	ION SERVICES LLC	2) LEXTON CONST	RUCTION, LLC		ER LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNI) PST	TOTAL COST
6 EXCAVATION AND GRADING OF INTERCEPTOR SWALE, 4:1 MINIMUM SIDE SLOPE-V BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	435	\$5.60	\$2,436.00	\$10.10	\$4,393.50	\$8.00	\$3,480.00
7 OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$3,080.00	\$3,080.00	\$4,71 7	,715.00	\$4,950.00	\$4,950.00
8 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1214	\$0.30	J4.∠	\$1.00	\$1,214.00	\$0.01	\$12.14
9 STORM WATER POLLUTION PROTECTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,541.00	54 *	\$2,535.00	\$2,535.00	\$1,100.00	\$1,100.00
DIVISION III – DRAINAGE FACILITIES SUBTOTAL:				\$ 885.20		\$183,995.30		\$195,714.14
DIVISION IV – MISCELLANEOUS ITEMS								
1 WET SAND CONSTRUCTION (AS PER DETAIL), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	~10	\$15 ^	\$15,000.00	\$5.00	\$5,000.00	\$5.00	\$5,000.00
2 DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	10	\$25.00	\$25,000.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00
3 EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
4 BLOCK SODDING, PER SECTION 12 SPECIFICATION (TO BE USED ONLY DIRECTED BY THE OWNER), COMPLETE IN PLACE	SF	500	\$0.50	\$250.00	\$0.30	\$150.00	\$0.30	\$150.00
5 BROADCAST SEEDING OF RESERVES, COMPLETF LACE	AC	3	\$897.00	\$2,691.00	\$450.00	\$1,350.00	\$700.00	\$2,100.00
6 STRIPPING MINIMUM OF 4-INCHES OF SURFACE TFT AND HA OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$897.00	\$897.00	\$1,500.00	\$1,500.00	\$9,950.00	\$9,950.00
7 INCREASE IN CLEARING AND ("NG COST TO CI" "AUL OUTSIDE THIS DEVELOPMENT (AT WRITTEN L" EL "N BY THE OWN "N), COMPLETE IN PLACE	AC	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
8 HAUL AND DISPOSE OF "LITY JILS TO DESIGNATED FILL AREAS ONSITE, USING OFF ROAD TRUCK "1-0.5". LES), INCLUDES PLACEMENT AND CC "1ACTION TO 95% STA ARL PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, CO. ETE IN PLAC"	LS	1	\$12,173.00	\$12,173.00	\$14,312.00	\$14,312.00	\$9,850.00	\$9,850.00
9 CEMEI TABII SAND (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLE GACE	CY	10	\$33.00	\$330.00	\$15.00	\$150.00	\$25.00	\$250.00
10 DEDUCTION ON STAGE II INLETS (TYPE 'C' AND'C-1') NOT CONSTRUCTED FOR THIS PROJECT, COMPLETE IN PLACE	EA	0	-\$500.00	\$0.00	-\$500.00	\$0.00	-\$500.00	\$0.00
11 EXTRA FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	500	\$2.00	\$1,000.00	\$1.00	\$500.00	\$2.25	\$1,125.00
12 ADJUST MANHOLE RIM TO FINAL GRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	5	\$28.00	\$140.00	\$250.00	\$1,250.00	\$120.00	\$600.00
13 4" WHITE P.V.C. SLEEVES FOR IRRIGATION, COMPLETE IN PLACE	LF	135	\$16.00	\$2,160.00	\$15.00	\$2,025.00	\$21.00	\$2,835.00
14 8" WHITE P.V.C. SLEEVES FOR IRRIGATION, COMPLETE IN PLACE	LF	65	\$32.00	\$2,080.00	\$30.00	\$1,950.00	\$28.00	\$1,820.00
DIVISION IV - MISCELLANEOUS ITEMS SUBTOTAL:				\$74,721.00		\$53,187.00		\$58,680.00

BID OPENING DATE:

TABULATION DATE:

LJA JOB NO.

BID OPENING LOCATION: TABULATION BY:

ALTERNATE BID ITEMS NO. 3 SUBTOTAL:

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE TERALYN FOREST DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

MAY 3, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

MAY 7, 2024 0474-8014 (9.2)

ESA COS NO.			0474 0014 (0.2)					
			1) BLAZEY CONSTRUCT		2) LEXTON CONST	RUCTION, LLC		ER LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	'JNI' 'ST	TOTAL COST
1 EXCAVATION WITHIN FUTURE ROAD RIGHT-OF-WAY INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF I TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING TO FINAL GRADE AREA, COMPLETE IN PLACE	+	1875	\$21.00	\$39,375.00	\$6.00	\$11,250.00	\$4.00	\$7,500.00
2 6" CEMENT STABILIZED SUB-GRADE, COMPLETE IN PLACE	SY	7800	\$4.00	\$31,200.00	\$3.	φ28,470.00	\$4.00	\$31,200.00
3 CEMENT FOR SUBGRADE PREPARATION (10% CEMENT BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY OWNER, COMPLETE PLACE	TON	184	\$321.00	\$59,00	\$246.c	\$45,264.00	\$240.00	\$44,160.00
4 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	1042	\$58.00	\$6 5.00	\$60.10	\$62,624.20	\$55.00	\$57,310.00
5 7" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6235	73.0	\$455,1. 10	\$66.50	\$414,627.50	\$59.00	\$367,865.00
6 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2567	° 1.50	.,551.50	\$3.75	\$9,626.25	\$4.00	\$10,268.00
7 CONCRETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, MAINTEN, AND REMOVAL, (LOCATION TO BE DIRECTED BY THE OWNER), COMPLETE PLACE		1	ψ1,926.00	\$1,926.00	\$300.00	\$300.00	\$850.00	\$850.00
8 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTO PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN			\$4,815.00	\$4,815.00	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00
9 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	Li	147	\$32.00	\$4,704.00	\$15.00	\$2,205.00	\$40.00	\$5,880.00
10 CONNECT PROPOSED 7" REINFORCED CONCRETE PAVEMEN YISTI. REINFORCED CONCRETE PAVEMENT, COMPLETE IN F .E		147	\$32.00	\$4,704.00	\$27.50	\$4,042.50	\$70.00	\$10,290.00
11 EXTRA TRAFFIC SIGNS, COMPLETE IN PLACE	EA	1	\$909.00	\$909.00	\$380.00	\$380.00	\$700.00	\$700.00
12 80MMM, 4-INCH X 8-INCH TAN AND PEWTER HOLL STONE PARKWAY S PAVERS AND PAVERSTONE, CO PLETE IN PLACE	SERIES SF	820	\$19.00	\$15,580.00	\$13.60	\$11,152.00	\$10.85	\$8,897.00
13 ARMORMAX HIGH PEPFORMAN TO REINFORCEMNT MATS, MEASUF PLAN VIEW, (AS DIRLED BY TO ENTERN), OR APPROVED EQUAL, COMPLETE IN PLACE	RED IN SY	123	\$45.00	\$5,535.00	\$90.50	\$11,131.50	\$130.00	\$15,990.00
14 ADA RAMPS, INCLUDES 1 NCA 1) DOME, PAVERS WITH CONTRASTING CC R PER DETAIL, COM. TE PLACE	B EA	5	\$2,140.00	\$10,700.00	\$1,500.00	\$7,500.00	\$1,600.00	\$8,000.00
ALTERNATE NO. 1 MS SUBTOTAL:				\$705,654.50		\$614,572.95		\$580,910.00
ALTERNATE B								
1 IMPORT FILL FROM THE WOODLANDS HILLS COMMERCIAL TRACT 2, FROM DETENTION POND, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USIN ROAD TRUCKS, (1.5-2.0 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE		21000	\$15.00	\$315,000.00	\$10.00	\$210,000.00	\$17.00	\$357,000.00
ALTERNATE BID ITEMS NO. 2 SUBTOTAL:				\$315,000.00		\$210,000.00		\$357,000.00
ALTERNATE BID ITEMS NO. 3								
1 MANIPULATION OF FILL AREAS TO ELEVATION INDICATED ON THE PLANS INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COM TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE		14620	\$6.00	\$87,720.00	\$3.00	\$43,860.00	\$7.00	\$102,340.00

\$102,340.00

\$87,720.00

\$43,860.00

BID OPENING DATE:

TABULATION DATE:

LJA JOB NO.

BID OPENING LOCATION: TABULATION BY:

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE TERALYN FOREST DRIVE

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A

CITY OF CONROE, MONTGOMERY COUNTY, TEXAS

MAY 3, 2024

LJA ENGINEERING, INC.

A.CAROTHERS MAY 7, 2024

MAY 7, 2024 0474-8014 (9.2)

23A 002 No.		`	5474 00 14 (O.E)					
			1) BLAZEY CONSTRUCT	ION SERVICES LLC	2) LEXTON CONST	RUCTION, LLC	o, i (Ef	R LTD.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	'JNI'i 'ST	TOTAL COST
ALTERNATE BID ITEMS NO. 4								
1 HAUL PAVEMENT SPOILS (BOTH SUITABLE AND UNSUITABLE MATERIAL), OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	LS	1	\$47,246.00	\$47,246.00	\$21,500.00	φ21,500.00	\$29,650.00	\$29,650.00
ALTERNATE BID ITEMS NO. 4 SUBTOTAL:				\$47,246.00		\$7 JO.00		\$29,650.00
ALTERNATE BID ITEMS NO. 5								
1 CONSTRUCT STONE-FILLED GABION RETAINING WALL TO THE LINES AND GRADES SHOWN ON THE PLANS. FURNISHED WELDED-WIRE GABION BASKETS AND GABION MATTRESSES, STONE FILL, LACING AND FASTENERED, FILTER FABRIC, FILTER MATERIAL, EXCAVATION, GRADING AND BACKFILL, COMPLETE IN PLACE	CY	1684	\$299.00	\$503,516 00	\$3_	\$547,300.00	\$302.00	\$508,568.00
2 4" HDPE CORRUGATED PERFORATED DRAINAGE PIPE, INCLUDES 4" GRAVEL COVER, ALL DEPTHS, COMPLETE IN PLACE	LF	644	\$27.u	\$17,. 00	\$35.00	\$22,540.00	\$33.00	\$21,252.00
3 18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	CY	45	\$ 00	φ5,445.00	\$223.00	\$10,035.00	\$110.00	\$4,950.00
ALTERNATE BID ITEMS NO. 5 SUBTOTAL:				\$526,349.00		\$579,875.00		\$534,770.00
BIDDING SUMMARY								
SUBTOTAL DIVISION I - WATER DISTRIBUTION SYSTEM				\$210,282.70		\$223,564.19		\$230,238.39
SUBTOTAL DIVISION II - SANITARY SEWER COLLECTION SYSTEM				\$214,965.30		\$214,357.12		\$295,369.39
SUBTOTAL DIVISION III – DRAINAGE FACILITIES				\$169,885.20		\$183,995.30		\$195,714.14
SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS				\$74,721.00		\$53,187.00		\$58,680.00
TOTAL AMOUNT BASE BID				\$669,854.20		\$675,103.61		\$780,001.92
ALTERNATE BID NO. 1 ITEMS								
TOTAL AMOUNT BASE BID				\$669,854.20		\$675,103.61		\$780,001.92
SUBTOTAL ALTERNATE BID NO. 1 ITE				\$705,654.50		\$614,572.95		\$580,910.00
TOTAL AMOUNT INCLUDIN LITERN : BIL 1 ITEMS ALTERNATE BID ITEMS NO. 2				\$1,375,508.70		\$1,289,676.56		\$1,360,911.92
TOTAL A UNT BASE BID				\$669,854.20		\$675,103.61		\$780,001.92
SUBTOTAL TERNATE BI NO. 2				\$315,000.00		\$210,000.00		\$357,000.00
TOTAL AMOU INCI' .G ALTERNATE BID ITEMS NO. 2				\$984,854.20		\$885,103.61		\$1,137,001.92
ALTERNATE BID ITEMS NO. 3								
TOTAL AMOUNT BASE BID				\$669,854.20		\$675,103.61		\$780,001.92
SUBTOTAL ALTERNATE BID ITEMS NO. 3				\$87,720.00		\$43,860.00		\$102,340.00
TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS NO. 3				\$757,574.20		\$718,963.61		\$882,341.92
ALTERNATE BID ITEMS NO. 4								
TOTAL AMOUNT BASE BID				\$669,854.20		\$675,103.61		\$780,001.92
SUBTOTAL ALTERNATE BID ITEMS NO. 4				\$47,246.00		\$21,500.00		\$29,650.00
TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS NO. 4				\$717,100.20		\$696,603.61		\$809,651.92

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:

TOTAL AMOUNT BASE BID

SUBTOTAL ALTERNATE BID ITEMS NO. 5

TABULATION DATE:
LJA JOB NO.

ITEM DESCRIPTION

TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS NO. 5

1) BI UNIT QTY

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE TERALTYN FOREST DRIVE MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF CONROE, MONTGOMERY COUNTY, TEXAS MAY 3, 2024 LJA ENGINEERING, INC.

A.CAROTHERS
MAY 7, 2024
0474-8014 (9.2)

1) BLAZEY CONSTRUCTION SERVICES LLC 2) LEXTON CONSTRUCTION, LLC KER LTD. UNIT COST TOTAL COST UNIT COST TOTAL COST TOTAL COST \$669,854.20 \$675,103.61 \$780,001.92 \$526,349.00 379,875.00 \$534,770.00 \$1.196.203.20 \$1,314,771.92

Page 7 of 7 FRN F-1386
LIA Engineering, Inc.